Answer sheet for Final Exam Fall 2005

1. A

2. a) P0 finishes its C.S./ P1 is in its R.S.

b) P0 sets turn = 1/ P1 is still in its R.S.

c) P0 executes in R.S. section of code /P1 is still in its R.S. section of code(turn =1)

d) P0 finishes its R.S. code / P1 is still in its R.S. (turn=1)

e) P0 requests permission to enter its C.S. but since turn=1 it is denied permission

Therefore the process P1 participates in the decision even though it is not supposed to because it is not in the pool of processes that are asking to enter C.S. This is a violation of the progress rule.

3. C
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5. D

	
	
	
	

	P0
	0
	2
	0

	P1
	0
	3
	1

	P2
	5
	0
	1

	P3
	0
	0
	1

	P4
	1
	0
	0


6. A / C / G

7. 2^ 30

8. 10

9.  9

10.  Contiguous/ Linked/  Indexed

11.  2^30 bytes

12.  65KB

13. TRUE

14. 175

15.  A

16.  B

17.  C

18.  Interface that defines the service method (function)

Implementation of the ineterface ‘s method

As part of the implementation register (binding) a remote object that represents the implementation with the RMI registry.

     20.  B.                                                                                                                                                                                                                
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